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General Instructions :

(iii)

(iv)

Preparatory Course in Mathematics (OMT-101) Questions 1-50.
All questions are compulsory, each of which carries one mark.

Each question has four alternatives, one of which is correct. Write the SL No. of
vour correct alternatives/answers below the corresponding question number in the
answer sheet and then mark the rectangle for the same number in that column. i
vou find that none of the given alternatives is correct write 0 and mark in

column 0.

Do not waste time in reading the whole question paper. Go on solving questions
one by one. You may come back to the left out questions, if vou have time at the

end.

No Calculators are allowed.
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(i)

(i)

(iv)
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1. If Tl v::—1thenxis .
~12 2 -1
- [P— —_ 'z _ ;
M - @ M (4)
( -5 2
2. The value of { e *3-) is
~3 o5 -0
M @ - O (4)
- 2
,*4 A

3.  The value of l(a ) } is :

- y 3 ) \

ORI @3 BF 09 @
4.  Inan isosceles triangle, the unequal angle is twice of the equal angles.

unequal angle is

(1) 45 (2) 90" 3) 60 (4)

-3

5.  Which of the following is not greater than 1 ?

Ly — -

S @ G) 4)
6.  The value of 2x =[x~ {4y — 2v —y)}] is :

(1) x-y (2)  2x+2y (3) x+y (4)
7. If 10% of 8x80=y% of 64x80 then yis _

1 : 2 2 5

M - @ Gy < ()
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243

The measure of an

120°

2 2
X =y
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3 3.
8. If ;:6 and a: 'S then P-qgis
1 5 R 3 " 3

9.  The value of [>7_]—8_ ! ]‘l— [3 R ]I— ——

(1 68 (2) —44 (3) 44 4) 36
10.  Which one of the following angles is acute ?

(1) 45° (2) 90° (3) 1007 (4) 95°
11. IfC(n,12) = C(n, 8) then C (22, n) is :

(1) 231 (2) 210 (3) 252 (4) 303
12. 0!+ 1t= _

M 1 2 2 3) 0 CO
13. The sum of all odd numbers between 1 and 11is

(1) 35 (2) 24 (3) 25 (4) 36
4. (1+y2) (1-V2)= — .

(1) -1 (2) 3 3) 1 4 0

2 5 1

15. If P(A)= 3 P (B)= 9 P (ANB)= 4 then P (AuB)y =

1 7 , 1 L, P

M 36 2) 36 (3) 36 (4) 36
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16.

18.

19.

20.

22,

H87 47 49+ 4.0586) =

() G20 2y 124 (Y 324 B Y 30
Fhe value of C (0, 2) 15 :

(y 30 2y 1> (3 12 (hR

[he sum of 28 odd and 5 even numbers will be

{1y an odd no. {2y an even no. 3y aprime 4y a complex number
' L<) )

In 2 hours the minute hand of a clock rotates through an angle of

(1) 60° (2) 1807 (3) 360" (1) 7207

A ladder is standing against a wall 12 mt in height at a distance of 5 m. Length of ladder
1s

(1) 17 m (2)y 13 m (3) 135 m 4 7m

[n a rhombus PQRS, PQ=2x+3) cm, RQ=(3x—-3) cm then PO=_

(1) 19 cm (2) Tlcm (3) 16 cm 4) 20 cm
The straight line 2x + 5y =0 passes through

. ) 1 1

(y (1 -1 (2) (3,1 (3) 55 (4)y (0, 0)

If xis a positive integer such that the distance between I’ (v, 2) and Q (3, — 6) is 10 units, then
X8

1y 3 2) 4 3) 9 4) -3

The probability that a two digit number less than 40 selected at random will be a multiple of
3 and not a multiple of 51is

o2 N

4

@ oz (4)

N

gt >
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25.

26.

27.

28.

29.

30.

31.

32.

33.

The ratio of the areas of a square and a rectangle of length 4 cm and width3emis4: 3. The
side of a square is _

(1 4 cm (2) 3 cm 3) 12cm () Y cm

If V and C stand, respectively for the volume and CSA of a cvlinder with base radius r then
which of the following holds :

1y VC=ar (2) 2V=Cr (3) 2C=Vr () 2r=VC

A book seller sold a book for Rs. 100 and there by gain Rs. 20. His gain percent is

(1) 20% 2) 25% (3)  40% 4y 15%

I[f a=b=2 then (a—b) (a®+ab—b?)

1) 2 2) 1 (3) 48 4) 0

Two numbers are such that their sum is 8 and difference is 2. The numbers are

(1) 10, -2 2) 6, —4 3) 5,3 4) -5, -3

An Octahedron has

(1) 8 faces (2) 8 vertices (3) 16 edges (4) 16 verlices

HCF of 6, 15, 21 is :
1) 3 2) 6 (3) 15 4) 21

A frequency polygon is constructed by plotting frequencv and the
(1)  upper limit of the class (2)  lower limit of the class

(3)  mid value of the class (4) any value of the class

Two cubes have the volumes in the ratio 1 ; 27. The ratio of area of the face of one to that of
other is

1) 1:3 2) 2:16 3) 1:9 4) 1:8

OMT-101 7 P.T.O.



34.

35.

37.

38.

39.

40.

If @ person walks 60 ki in 5 davs, then the number of days taken to walk 72 kimis

() Hdavs {2y 5 davs {2y 6 days

Between two rational numbers
{1y there are exactly two rational numbers.
(2)  there are infinitely many rationals and irrationals.

(4) there is no irrational numbers.

[

) there is exactly one rational.

When the class intervals are given as 1019, 2029, 30 --39

second intervals is

1y 24 (2)  24.5 3) 25

(4)

7= davs

[ \ ——

mid value of the

[f the diagonals of a quadrilateral are equal and bisect cach other [not at right angles] then it

15 a

[N]

@)

(1) square (2)  rectangle (C

e . . " | P x
The value of x which satisfies 3V "= =1 is

M 1 2) 3 (3) 4

) rhombus

(4)

(4)

parallelogram

2

Ram’s age is 16 yrs and Raghav’s age is 13 vrs. After how many years will the sum of their

ages will be 53 years ?

(1) 24 vrs (2) 12 vrs (3) 13 vrs

The alphabet H has :

1) horizontal line of symmetry

(

(2)  vertical line of symmetry

(3)  both vertical and horizontal lines of symmetry
@

4)  no line of symmetry

OMT-101 8
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41. Three bells ring at intervals of 4 scc, 5 sec and 8 sec. The bells started ringing together. After
how much time will they again ring together ?
(), 1 min (2) 48 sec (3) 40 sec 4y 50 sec
42.  Which one of the following is in G.P ?
(1y 4,10,16,22 _ __ _ __
2y 3,711, 15__ _ __ _
3y -5 -10, =15 -20, _ _ .
(4y 5,10,20,40 __ __ _ __
L
43. The next term of the series 4, =2, 1, — 7 ...i1s
1 ] 2 =L 3) 4 4) J
O @ () 4)
44. Aliais “y” years old. Her mother is twice her age. The grandmother is 20 yrs older than the
mother. The grandmother’s age is :
(1) 20y (2) 202y (3) 2y-20 (H 2y +20
45. A jewellery store is reducing the price of all items by 15%. The price of a silver bracelet will
be Rs. 5.70 less than marked price. Then the marked price is :
(1) Rs. 38 (2) Rs. 570 (3)  Rs. 618 (4)  Rs. 76
46. Which one of the following is true for the data 3, 6, 8, 12, 8, 6, 15,8, 9, 7.
(I) mean > median (2)  mean < mode
(3) mode > median (4)  median = mode
47. The range of the data 1.5, 2.4, 24,36, 24,1.6, 1.3 and 2.6 is :
(1) 0.9 (2) 23 (3) 1.2 (4 2
48. If a six-faced die is thrown twice, then the probability of getting total score 9 is
1 1 o 1
® 3 @ 5 G 3 S Y
OMT-101 9 P.T.O.



49.

50.

From a pile of ten old newspapers, 5 Times of India and 5 Hindustan Times, two newspapers
are picked one at a true, without replacement. What is the probability that both are Times of
India ?

5 ‘
@ 3 G 5 @

NN S]

(1)

Which one of the following in not a method of proof ?
(1) deductive logic (2) giving a counter example

(3) identifving a relationship (4) inductive logic

OMT-101 10



Aqfg - —y= 1 d A
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(1) “‘;_ {2) = (3) ?i. (43 _/f
-5 2" N
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(2] e
3]
M @ 3 M 4096 S
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o '_3 ~ SN
frafafed 5 2 #R-m I E R
T 2y = 3) 0 P
M5 ™ G) @ 5
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10.

11.

13.

14.

15.

16.

17.

18.

19.

20.

fqeafabaa o = e a3 = EALI-

AT C o 12y = C(n, 8) B0 C 22, n) B
1y 231 2y 210 (3)

o+ 10 =

P 11 @ A Tef A e R A
(1) 3% ) 24 (3)
(1+\/2} { ]“\',j\’ =

(1 -1 (2) 3 (3)

. z 5. (R
AP = S P e D (AT = S B AP (AUB) =
V3 J

(@8]
iy
~1

- (2 - 3
Y. R ©)
6.87 = {2494+ 1.0500= __ .
(1y 0.224 (2 0124 (3)
C{ 2y uA LS
{1y 30 {(Zy 15 (3)

28 Tarm &im 5 W= wWeemed T A g
1y s 2y EY (3)

T S H g2 w3 0 H o e s geedt § 7
(1) 60° 2y s (3)

100° (4)

[N
I
—_
N
N

1 ()

11
3% (4)

12 (4)

ST (4)

360° (4)

U HE 12 wer R A A sl g e By Higl o e

(1y 17wl (Zp 1L (3)
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13.5 . (4)

303

0

35
36

0.324

720°



21. WF FHFGHS PQRS H, PQ = (2v +3) Tl 3R RQ = (31 -5 FFL 2, 41 PO

(1) 19 |4 (2) 11w (3) e T Ch20 a

22, WA @ 2x+5y=0 SIS R

23. Afe x Uah TATHS Jolleh 55 GhR & foh (v, 2) SR QO (3, 6} & A0 TRf 40 (G007 2 3 0 &
A _

‘W
=
.
£
—
-
»

24. 409 HY < Sl HI AGEAT FA WA F@AM F 3 H AU AT 5T AT A5 G HR W
B

2 0y = A T
( ) ]5 (‘—) 15 ta) y - v -

10 28

25. W 71 AR T 4 TH 1S SR 3 THY 128 F SATHa o ATFhedi 61 ST 4 3 F, 1 AT T oS BN
(1) 4 9. (2) 39 (3) 12 9 (4) 9 T,

26. Afc VAT % AT IR C AT & TR HARE Bl 7904 € Fonwt G ¢ 7 o fratafees 9§ 9
I -G G 6 T 7
(1) VC=mr (2) 2V=Cr (3) 2C=Vr (4)  2r=VC

27. Uk fhae a1en TF foRa@ 100 % B S=a1 § a1 39 20 %, R o1 261§ 1 S e A9 2 g
(1) 20% (2)  25% (3)  40% (4) 15%

28. 4K a=b=27%, @ (a—b) (a2+ab-Db)=__
(1 2 2) 1 (3) 48 (4) O

29. T 9T 39 YHR § o SHH A 8 ¥ N R 2 %1 A 9 ¥
(1) 10, -2 2) 6, —4 G) 53 Gy -5, =3

30. T T<Hod H B ©
(1) 8w (2) 83 (3) 16 T (4) 1o 9id

31. 6,15, 21 &1 H&TH HHMTEAH &
(1 3 (2 6 (3) 15 (4)

PO
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34,

36.

37.

38.

39.

TR STETAL AEYS ARl JE T ST AT S
e (2) AR T A

(3} I IR TSI | (1) TRAT T RIE

&1 A TIA! BT S 127 T T B AARE H S 2 g

(1 1:3 2y 216 (10 4w

! [

Afe ey =afaa S 727 H o0 TR A B ow 72 e s 1w T fam e 2

(1) 4T 2y 5t 3y o fam (1) a7

~1

L3

=1 ufe weena & s

(1) 2 <1 7fa 9o 26 )

(3) 2k ww ity e g ¥

(4)  HIE T FfHE e 9= v

Afe el A=A 1019, 2029, 30 -39, 57 27 5 & @ g9 37=a0et w1 7ope 2

D

(O}

(1) 24 2) 245 (3) 25 I

A W TGS % fomo] s § iR U gH ) oE W R €1 (TR W AR ), 94 T8 T

B -

30 2= W) T FIH AT v FHHH B
(H 1 2 3 (

)
o
e

(4) 2

T T S 16 7 ST T g 137 71 FE il % A 2R v s
M 24 (2) 127 (3 139 @) 11 @
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40.

41.

42.

43.

44.

45.

46.

3TeR H o Bl B

(1) &fast Y & =mae w=fafa )

(2) THAETER T 3 Hr9et T |

(3) Tl Afae iR Seater mnsi & wey gufaf |
(4) =¥E Tothfa T8

A Hfeat 4 Thee, 5 THS 3R 8 W=z % AU W A & | Ffi HiEAT U | s 3% F E
forem w92 & o T 9 s Ty Fo 2

(1) 1 e (2) 48 ¥F=T | (3) 40 HH-3 (4) 50 HWhT |

frefefaa & @ - = o gof ¥ 2
(1) 4,10,16,22 _ _ __

) 3,7,11,15 _ __
3) -5 -10, -15, =20, =
(4) 5,10,20,40
1
guit 4, —2,1 - T TN U BT
1 -1
M 3 @ 3) 4 4) -1

s{ferar =1 /g 7y 7 F 1 IHR! AT IHHT 3G D AT F 1 SE SHHRT AW 20 90 T ¥ < A
IR
1) 20y (2) 20-2y (3)  2y-20 4) 2y+20

T TAER Ht FEG3H W 15% 1 B2 < W@ | T A6l % HS F HeA ARd g9 ¥ 5,70 . FH ¥
siferd geI1 | -

(1) 38%. (2) 570 % (3) 618 % 4) 76 %

aAikel 3, 6,8,12,8,6,15,8,9, 7 % fou fo & 9 =1 91 T2
(1) WIE" > "ifeAen (2) WY < TGAR
(3) EEAF > HiftaE (4) It = Sgaw

OMT-101 15 P.T.O.



47.

48.

49.

(J"
=]

ST 1.5, 2.4, 2.1, 3.6, 2.4, 1.6, 1.3 3R 2.6 # R T :
() 0.9 (2) 2.3 (3) 1.2 4y 2

o] b N LS
(\“ 9 ‘-) 6 (3) 3 ( ) 12

0 A SEAN 1 TEE H 5 2R A gfem o 5 fegmam e €1 fomn ufarenm 3 < srweR

5 1

) 5 @ 3

NoB RS

(0

frferfea o 9 @@ a9 e 3t w1 fafy 9878 ?
(” =K G ED ﬂ@! (2) .gﬁ‘["g‘\ gy é:ﬁl

(3) ¥ A A (4)  ATTARER T |
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